\ hmged at the supports and at the crown|
and a central rise of 4m. It carries a cnncenu-ated'

ortion. Determine the bﬁl‘ldli‘*}:’ moment, normal thrust

al shear at a section 6m from lefi support. |
spension cable having supports at same level has a span of 4Dm.
imum dip of 4m. The cable is loaded with UDL of H}kNIm]
ough its length. Caleulate the maximum and minimum tension m
le. Alsn find the Ienglh of the cable.
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> hinged pambnhc arch havmg supports at different levels off
60m. Its abutments A and B are at depths of 15m and 30m from|
wn C. The arch carries UDL of 20kN/m over the portion AC and
point load of 100kN at a point 10m from B. Find the reactions, n:_umaLIl‘
thrust and radial «‘.hem I.}Ll'idlll" moment at 13m from A, !

apart
'nnzﬂnmliy ﬂnd a ce :'lui :..hp uf Orin. [1 .:Ll[_'l-})i.:lrl.b a UDL ui "01(]“-"111

_alcuIat;, the lenoth of cahle, maximum and xmmmum tension in th-.,l
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'Us:ng conjugate beam method determine the dellection at point C dm|
slope at A for the tollowing heam.
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the cantilever

by moment arca method. Take
ok SkN

_lh_ shown in following ltoure
lI]kNm

nine the slope and deflection at the free end of the cantileveq
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slope a_n"t_i deflection of the luﬁﬂ:}:_l cantilever beam
following figure at the free end by conjugate beam method.
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